x=28.9
2x=867
2x2=39513
Sx=22.327268
ox=21.95199308
n=30
minX=5

JQ1=12




3) Create a frequency distribution for the data US'”Q 5 intervals

INTERVAL FREQUENCY

MNS S — 9
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b
£
2
g

|

4) Create a histogram and a cumulative frequency histogram for the data:

Frea:1 =
Color: IENVEEE

REAL RADIAN MP

TraceStep=.71212.




Calculate the five number summary for each data set. Identify if the data set contains any outliers
and construct a box and whisker plot to display the data.

Md= S

RADAN 1 R —
C ! ( - ' > OOM HEMORT NORMAL FLOAT AUTO REAL RADIAN HP
i : :ZBox - =
l — it " gat X = - 1-Var StatsIREEEE
D) iLe : 2: Zoomst 15x=22. 327268 E
r/\ E‘D — ; R i1 4 ZDecimal : ox=21.95199308
B g:ZSquare % 0
x 12T . Q
% i

Q3= 39
maX = 9Y

O pWD, JO éO 0 /ou

Calculate the upper fence (the upper boundary for outliers)
Q3+ 1.5(Ta) =39+ I,C@F)} =79.5

Are there any values above the upper fence (i.e. outliers)?

o, A%

Calculate the lower fence (the lower boundary for outliers)

(- I.Q'/ﬂg): [y — /.C/m): ”39«‘§

Are there any values below the lower fence (i.e. outliers)?

NONE

, find any outliers that may exist and then draw a modified boxplot.

NORMAL FLOAT AUTO REAL RADIAN MP

[AFX3 Plot2 Plot3
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Color: NN




/L
&

A)

|
o 20 40 GO o lo¢

From each box and whisker plot, identify whether the data contains any outliers.

%
%

20 30 40 50 60 70 80 I 90 dUWIM
f& RI-Q| =Lo-4$= 15
(ouon fervce — QI -1 . ST = Lf{”ggg)
Uppet fFevce = L7+ 1.S1UB= o 415(1S

Exercise #5: Twenty of Mr. Greco’s physics students recently took a quiz. The results of this quiz are
shown in the following box-and-whiskers diagram. Assume that all scores are whole numbers.

|

50 60 70 80
(a) What was the median score on Mr. (b) What was the range of the scores on Mr.
Greco’s math quiz? Greco’s math quiz?

A Gy —S2= 2

(c) What score was greater than or equal to (d) Mr. Greco regularly sets the passing
75% of all other scores on this quiz? grade on his quizzes to be the score of

the lower quartile. What is the passing
& 3 - ’7 C grade on this quiz?

Exercise #6: Which of the following box-and-whiskers diagram shows a data set with the greatest

median?
(1) T SXE) — 4
0 20 40 60 ’% 0 10 . D D‘
@ H I - L{'Q @) —T

L B s s B e g
0 50 100 0 5 10




The following data represents the prices of 20 boxes of
cookies at a supermarket:

$ 2.89 $ 2.95 $ 1.75 $ 3.15
$ 2.99 $ 3.19 $ 2.95 $ 2.99
$ 1.95 $ 3.09 $1.95 $ 3.09
$ 1.99 $1.99 $1.99 $ 2.00
$ 2.74 $ 1.80 $ 2.95 $ 5.75

(a) Create a stem and leaf plot for the data.
STEM LEAF
17 |S
1¥ |9

19 |[SS999
20 |o

3 Key
2 575 =
3% ccaq #5758

30 |99
S| |59
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